Math 085 - Test 4a Name __Key

November 14, 2013 J Score

Part I - Circle the best answer for each problem. Each problem is worth 2 points. Partial
credit may be awarded for correct work or explanations. CALCULATORS ARE ALLOWED
ON THIS PORTION OF THE TEST ONLY.

1. Compute 3.87 + 5.23 x (—2.97) -

‘ ~11.6631

) —27.027
(c) 27.027 %ﬂ“ Ly\/% g
d) 19.4031 d
\% NG
2. Write 1002 ixed number in lowest t /\%%
- Write — == as a mixed number in lowest terms. \ / ©
3 24 6 1
(a) 87+ (b) 86~ . (c) 80 875
7 3 ’%\
3. A rectangular garden has dimensions 3— meters by 2— meters. Find the area of the 4_(3‘ \
. . . % 5\
garden. Write your answer as a mixed number in lowest terms. % ) ) /56
5 s @i : 53, R
(@) 63m 1032m (c) 12m @ % m Ry,
4. Combine like terms:  3.89x — 9.773y + 2.951x + 6.9y
(@) 68412 — 2.873y 3.89 + 2.95( = (. 84|
(b) 6.841z + 16.67y o
-9.773 = _
(c) 0.930z — 16.67y 6= %773 2.873
(d) 2.873z + 6.841y
14 82 '
5. Compute 0 + TR Write your answer in lowest terms.
3589 2315 68
(®) 3376 OF © 163 @ ﬁ



Math 085 - Test 4b Name ___Key
November 14, 2013 v Score

Part II - Circle the best answer for each problem. Each problem is worth 2 points. Par-

tial credit may be awarded for correct work or explanations. CALCULATORS ARE NOT
ALLOWED ON THIS PORTION OF THE TEST.

1. Find the least common multiple of 8, 16, and 12.

(@) 4 ‘ N 16,33,49
() | t
(c) 1536 Yes l
(d) 32
2. Add and write your result as an improper fraction:in lowest terms: g +2
7 -
iy s s
5
21 N2 - 2L
) ®
8 (o)
5
(c) 1
7
@
3. Solve for z: x+ i = g
17 3 \a .5 L
= X = — -7 = T T =
(8) =355 5 ao a0 o
3
(b) z= 20
(c) z=2
_
@<=35
3 1 1
4. Solve for w: Zw -3=3
5 .
w = — -.3-’ - _\_4’ 'L - i L .S
(b) w= =
15
2 /8 5
LO - a".z\‘ 3/, : "'5"




3
5. Convert —12- to an improper fraction.

4
(@)-2 3 . Y4s+3 5|
4 \ a y - =
45 H Y
(b) ——
(c) ——4—
36
@ -
. . . 2 5
6. Add and write your result as a mixed number in lowest terms: 55 + 36
3
(a) 8- 4
6 it
1 2%
(b) 9% + 35
(D3 ;
9= e
2 . gl oL
56 6 " C{ b ~ 79
) &
7. Subtract and write your result as a mixed number in lowest terms: 13 — 9%
5
®) 43 TR+
5
2 32
OF 95
(€) 42 L5
;" 3%
(d) 43

2
8. A recipe calls for 1§ cups of sugar. How much sugar is required for

% cups

S .3,
(b) 20 Cups 9 X3
(c) % cups
(d) 2 cups

% of the recipe?

=
Y



9. Which one of these is the correct word name for 52.77

(a) Fifty-two point seven
(b) Fifty-two and seven hundredths
(c) Fifty-two point seven tenths

Fifty-two and seven tenths

10. Which one of these impropér fractions is equivalent to 45.0097
459

() 10000

(o) 238 g —— = HSooR

45009

1000
459

O

11. Which one of these numbers is greater than —0.56477
(a) —1.0
(b) —0.565
(¢) —0.5648

(@)-o.56

12. Multiply:  9.876 x 0.001
mAL P-r £,
(a) 9876 Move O 2 PLAC
(b) 0.09876 Lefm
(c) 987.6

‘0 009876



13. Round 89.5:128 to the nearest hundredth.

(a) 90
(b) 100

@89 54

(d) 89.543

14. Which of the following is a reasonable estimate for 9% - 175?
Ok N _
(b) 26 ¥~ 9-17=-8

(c) =7
(d) 8

15. Multiply:  13.9008 x 1000

RIgHT
(a) 0.0139008 Move decimae BT 3 puaces B
(b) 1,390.08

@13 900.8

(d) 0.139008

16. John h1ked mi, took a 5-min break, and then hiked another g mi. How far did John

hike in all?

(a) 73 —3_-\'—3‘
39mi 5 8
40
(© 2mi I LA
0
(d) I%mi Ho o



17. Solve for z:

20 =6— %x

46 ‘
18. Write — as a mixed number in lowest terms.

4

(a) 113
2
(b) 107

1

11—~
@3
1

() 46;

. 19. Divide and write your result as a mixed number in lowest terms:

(@) 24

(b) 4i

© g

1
1=
Ck

20. Evaluate z + 2y when z = 5% and y = !

15

.7

(c) 6—

@ -

~
-

W

g

5

W]

I

"

a0

)
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1 .3
25+ 1=
3. 4

1
3

2
8

|
55+

-\—.3(
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